CBD1 SRR €DIMAO TOHATSU

£ 1) SHFf

RoHS

MXP 2XP

C - - i
;o
C
B RAAER [T

HE [EE| BE |ME | 2| BE |HE
SCM435| 22 |HRC33~39|S45C| 22 | HRC33~39 | #

o =s |ANSI 2

3 A|B|C|D|E|F|G|HI|J K L | M| P

(==} '5,'{' NO. (g) Eﬁ
CBD1-25 25 74 10 68 7 48 | 24 3 6.5 | 40 | M5x0.8 16 11 6.35 25
CBD1-35 35 94 15 85 | 10 74 | 3.7 451105 | 45 | M6x1 24 9.525 50
CBD1-40 40 124 | 20 112 | 14 | 112 | 4 6 13 60 | M8x1.25 32 12.7 120
CBD1-50 50 154 25 139 | 17 | 13.8 | 5.2 751165 | 75 | M10x1.5 42 9 15.875| 250
CBD1-60 60 183 30 165 | 21 | 178 | 6 9 195 | 90 | M12x1.75 52 19.05 405
CBD1-80 80 244 40 220 | 27 | 226 | 8 12 26 120 | M16x%2 68 254 885
CBD1-100| 100 | 304 | 50 274 | 33 1275 | 96 | 15 32 150 | M20x2.5 80 31.75 | 1850
B ER é“"‘:'”fﬁ ﬁHH.‘l‘%‘
-SRI TT LB SRR RYIE IR [ e | SORS

CBD1-25

o EE
CERIER TREEER ) B8

TREBSZE I ASEA

E RS RIRRA B IIRIRE
GRESAEE > FEMLEEE
blgefeini

- BFREREHER > FESRE-
Bz



